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Oéuo B

B1. Zelida 73-74 oyolukol Piiiov
B2. Zelida 70 oxoAkod BifAiov

B3. XeAida 141-142 oyoiikov Biiiov

B4. ZeAida 69 oyoikod Bipriov
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t0 0
t1 1
t2 1
t3 0
t4 0
t5 0
t6 1
t7 1
t8 1
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XPONOX Q AEITOYPT'IA

t0 0 e
t0-t1 0 Koatdotaon npepiog
t1-t2 1 Evepyomoinon

t2-13 1 Kotdotaon npepiog
t3-t4 0 Mndeviopodg

t4-t5 0 Mndeviopdg

t5-16 0 Kotdotaon npepiog
t6-t7 1 Evepyomoinon

t7-18 1 Kotdotaon npepiog
3.

RD/WR’ 10/M° AEITOYPTIA

1 1 Avayvoon and copwT

0 0 Eyypaon| oe pviun RAM

0 1 Eyypaon o€ 066vn

1 0 Avdyvoon amd pvyqun ROM
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Vin = q (bo x 2° + by x 2! + by x 2% + by x 2°)

10=q(1x2°+0x2"+1x2*+0x2%



10=gq(1x1+0x2+1x4+0x28)
10=qgx5

q=2V

A2.
Vin=q (bo x 2° + by x 2' + by x 2% + b3 x 2%)
22 =2 (bo x 2° + by x 21 + by x 2% + by x 2°)
11=(box1+b;x2+byx4+Dbs3x8)

b3:1

Apa bgbzblbo =1011

A3.

(b3bab1bo)max = 1111

Vin=q (box 2° + by x 21 + b, x 2% + by x 2%)
Vin=2(@1x2°+1x2'+1x2%+1x 2%
Vin=2(1x1+1x2+1x4+1x8)
Vin=2(1+2+4+8)

Vin=2x15

Vin = 30V

Apa Vimax = 30V



